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1. What is the playing time of the full version of the Indian National Anthem

A. 47 Seconds B. 50 Seconds

C. 60 Seconds D. 52 Seconds

.2. Stud)' of insects is known as

A. Insectology B. Entomology

C. Etimology D. Ontology

3. Which of the following city is nearest to equator

A. Colombo B. Jakarta

C. Singapore D. Manila

4. Who is associated with coinage of the name 'United Nations'

A. JL Nehru B. Franklin Roosebelt

C. Charlese 0 Galle D. Wudro Wilson

5. World's largest floating part 'Keibul Larnjao is situated in India. Identify the state

A. Manipur B. Mizoram

C. Arunachal Pradesh D. Assam

6. An operating system developed by free software foundation

A. [BM B. Wipro

C. Gnu/Linux D. Windows XP

7. The Land of 'Golden Pagoda'

A. Myanmar B. Switzerland

C. Vienna D. Sweden

8. Which of the following planets is known as 'Morning Star'

A. Mercury B. Mars

C. Venus D. Jupiter

9. Who is called the 'Father of English Poetry'

A. Charles Dickens B. Chaucer

C. Wordsworth D. Milton

i O. 'My Music My life' is the Auto Biography of

A. Pt. Sivakurnar Sharma B. Ustad Arnjad Alikhan

C. Ustad Zakir Hussain D. Pt Ravisaukar
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II. Who said "My only hope lies in prayer and answer to the prayer"?

A. Rabindranath Tagore B. Jawaharlal ~Nehru

C. Vivekanandan D.Mahatma Gandhi

12. First heart Transplantation surgery was done in which Government hospital of Kerala

A. Trivandrurn Medical College

B. Kozhikode Medical College

C. Alappuzha Medical College

D. Kottayam Medical College

13. The principal source of Revenue to the State Government in India is

A. Income Tax B. Corporate Tax

C. Sales Tax D. Excise duties

14. Force: Newton: : Power: ')

A. Watt B. Volt

C. Ampere D. Ohm

15. Jungle: Zoo :: Sea: ')

A. Water B. Fishery

C. Harbour D. Aquarium

16. When did Vasco da Gama come to India?

A. 1542

C. 1493

B. 1498

0.1348

17. Which one of the following part of human brain is the regulating centre for swallowing

and vomiting?

A. Cerebellum B. Cerebrum

C. Medulla oblongata D. Pons

18. Name the youngest Indian recipient of 'Bharat Ratna'

A. Rajeev Gandhi

B. Dr. A P.I Abdul Kalam

C. Sachin Tel1dulkar

D. Prof. Arnartya Sen
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19. The Numbers ..f2, J3 , .f5 etc. are called .... numbers

A. Rational

C. Real

B. Irrational

D. Prime

20. A bag contains 3 white and 5red balls. If a ball is drawn at random, the probability that

the drawn ball to red is

A. 5/8 B.3/8 C. 3/15 0.5/15

21. In a Certain Code 234567 is coded as FLOWER. 849 is coded as DOG. Then how is

53482 coded?

A. WLODF

C. DEFOW

B. FWDOL

D. LDWOF

22. What is the simple interest on a slim of Rs. 4500 at 18% Per annum for 438 days.

A. 468 B.850 C. 972 D.900

23. A's capital is equal to twice B''s capital and B's capital is three times C's capital. The

ratio of the capital is

A. 2: 1:3 B. 1:2:6

D.6:3:1C. 1:3:6

24. The average of 30 results is 20 and the average of other 20 results is 30. What is the

average of all the results.

A. 24 B. 25 C. 48 D.50

25. Simplify

3

3 + 1
2

3+-3-
T

16
A. 18

B. 25
31

D.~
18

c.~
18

26. The weight of a 12 m long iron rod is 28 kg. The weight of 9 m long of such rod will be:

A. 18 Kg. B. 12.4 Kg

C. 21 Kg. D. 3.5 kg
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27. The length and breadth of-a rectangle is in the ratio 3:2. If the breadth is 108 cm,

Length is

A. 72 ern B. 12 ern C. i62 ern D. 105 ern

:28. Two dozen bangles cost Rs. 80. The cost of 5 dozen bangles is?

A. 210 B,200 C.150 0.400

29. Two pipes A and B can fill a tank in 12 hours and 15 hours respectively. If both the

pipes are opened together, at what time the tank be full?

A. 8 hours 30 minutes B. 10 hours

C. 7 hours 0.6 hours 40 minutes

30. A Man buys 10 articles for Rs.8 and sells them at rate of Rs. 1.:25 per article. His gain is

A. 20 % B. 56 ~~% C. 19 Y2 % 0.50%

31. The value of 0.003 x 0.45 is

0.09

A. 0.015 B.0.15 C. 1.5 0.15

32.120 x 672 = 168 x ')

A. 450 B. 860 C. 480 0.346

33.396.82 +528.92+504.07 = ')

A. 1339.61 B. 1539.61 C. 1440.24 D. 1429.81

34. Which is the number that should come next in the following series?

2.6.12.20.30.42,56

A.60 B.64 C. 72 D. 70

35. If in each number first and the last digits are interchanged, which of the following will be

third highest number')

A. 308 B.921 c. 5:26 D.237

36. Which of the following is in the decreasing order

A. 1/3,3/5.5/7 B. 5/7,3/5.1 n
c. 1/3.5/7.3/5 0.5/7. 1/3.3/5

37. (8/88)'( 8888088= ,)

A. 8000808 B. 880008 C. 888000 D. 80R008
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38. A man is 4 times old as his son. Four years hence the sum of their ages will be 43 years.

The present age of the son is

A. 7 Years B. 9 years C. 6 years D. i I years

39. Write the antonym of "Cheerful"

A. Gloomy B. Bad C. Joyful D. Dim

40. Write the antonym of "Exhibit"

A. Prevent B. Withdraw C. Conceal D. Concede

41. Write the synonym ofi'Vernal"

A. Dirty B. Luxuriant C. Spring like D. Prone

42. Write the synonym of rNebulous''

A. Tiny B. Vague C. Insignificant D. Inadequate

Fill up the blanks suitably

43. K.S Chithra is popular her musical Concerts

A. With B.Of C. For D. at

44. Happiness Consists _ Pleasure

A. In B. of C. by D. with

45. We have our meeting

A. Put off B. Put on C. Put up D. Put down

Change into Reported Speech

46. Maya said to me, "When will you return" ?

A Maya asked me when he would return
B Maya asked me When I wou Id return
C Maya asked me when I will return
D Maya asked me when I returned
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47. Rerna Said. c c I have finished my work"

A Rema said that I had finished my work
8 Rema said that she has finished her work
C Rerna said that I have finished my work
D Rerna said that she had fin ished her work

Choose the correct passive form of the given sentence

48 It is time to eat the food

A It is time for the food to be eaten
8 It is time for the food to eat
C The food is eaten
D None of these

49 The principal was preparing the annual report

A The annual report will be prepared by the principal
8 he annual report would be prepared by the principal
C The annual report is being prepared by the principal
D The annual report was being prepared by the principal

50 The president __ . the prizes to the winners

A.
C.

Give awav
Give in

8. Give LIp
o Give off

Choose the proper question tag

51 He informed everyone 'I

i\. doesn't he
wasn 't he

8. didn't he
D. is hec.

You should come tomorrow .

A.
C.

shouldn't you
don't you

B. do YOLI
D. should YOLI

53 If I \vere a millionaire I reserve a ticket to moon---

A wi II B. would
C shall D. must
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54 The child since 4 0' clock

A has been sleeping
B is sleeping
C had slept
0- has slept

Find the error segment in the given sentences

55. (A) I have / (B) been here / (C) many / (D) a times

56. (A) This is one of / (8) the most interesting book / (C) I have / (D) ever read

57. (A) He spends / (8) lot of money / (C) On clothes / (D) No error

58. (A) The coffee / (8) is hot / (C) such that / (D) I cannot drink

59. Expand 'NITI' in NITI Aayog?

A. National Institute for Transforming India.

8. National Institution for Transforming India

C. National Institution of Transforming India

D. National Institute of Transforming India

60. Who was known as "Kerala Sirnham" or the' Lion of Kerala'
A. Swathi Thirunal Maharaja
B Veluthampi Dalawa
C Marthanda Varma
o Pazhassi Raja
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UPPER DIVISION CLERK-A

Answer kev(25/10/2015)

1 J) 21 f} 41 C
2 B 22 C· 42 B
3

Co
23 :1). 43 C·

4 8.- 24 A, 44 A·
5 fJ. 25 J). 45 R·
6 C 26 C 46 13· -

7 A 27 C· 47 J).

8 C· 28 /J, 48
~!}.

9 13. 29 J) 49
J),

10 JJ 30 13 50 R',
11 J) 31 A 51 8·
12 :J) 32 C ,

52 A
13 C' 33 J) 53 8'
14 A· 34 C 54 {I'

15 D 35
Co,

55
J),

16 8. 36 8 56 /3
17 C' 37 :J) 57 8-
18 C· 38 13 - 58 C'

(3- A , 819 39 59

20 ,q. .40 c- 60
J)
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